K99 25— L+EH =
XA 1,800 » hhEE 1,400 )

1,500 1,300M

35—-LBLEDEMS—L S00M

10&BULETD
cF 35

BR&OFTHT

KSFHIZ T 0OREDSEDET, Xk#ﬁ77/l&¥ﬁﬁﬂ®7ﬁﬁﬁi'&‘lz?sﬂii\&(tféb\o XBEY—E A% B5I%FEFRAVEEITEEA.

1'840m 48

dICEFY Y dS#éAtvb

(3‘)¥3§) (Eb??’)’ér)
2,040m 2,220m [~
INpEEAE)

UhepEt)

wickok B &

B#R%) s 7D

P

2,120m8 1,920m8

-Ij /|vf ja’- *W KA Y

2ok, 9 | 2.120m 1.920m

SHLAKIT

[*FHIC] XDET1057

JO7FewHR9vEAE T50569-21-9988

XBHEIEAA—I T, BICEY . BRAYUABHERILLIBENTETVET,

SHMREMEHABEIS-11-1 EEIOFT—ILR



